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Special Question - Logical Reasoning English

Q:1 Select the alternative that represents three out
of the five alternative figures which when fitted into
each other would form a complete square.

Q:2 Select the alternative that represents three out
of the five alternative figures which when fitted into
each other would form a complete square.

1. 512

2.152
3.234
4. 42]

Q:3 Select the alternative that represents three out
of the five alternative figures which when fitted into
each other would form a complete square.

1.125
2.152
3.142
4.123

Q:4 Select the alternative that represents three out
of the five alternative figures which when fitted into
each other would form a complete square.

1. 532
2. 241
3.345
4,134
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Q:5 Select the alternative that represents three out
of the five alternative figures which when fitted into
each other would form a complete square.

1.123

2.52]
3.213
4.145
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IAnswer Key

1.(2) 2. (3) 3.(3) 4. (3) 5. (4) I

Q:1 The correct answer is Option 2 i.e. 352. Hence, the correct answer is 345.
Only 352 figures fitted into each other would form
a complete square. Q:5 The correct answer is Option 4 i.e. 145.

Only 345 figures fitted into each other would form
a complete square.

Hence, the correct answer is 352.

Q:2 The correct answer is Option 3 i.e. 234. Hence, the correct answer is 145,

Only 234 figures fitted into each other would form
a complete square.

Hence, the correct answer is 234.

Q:3 The correct answer is Option 3 i.e. 142.
Only 142 figures fitted into each other would form a
complete square.

Hence, the correct answer is 142.

Q:4 The correct answer is Option 3 i.e. 345.
Only 345 figures fitted into each other would form
a complete square.
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